Section : General Awareness

Q.1 The Sepoy Mutiny in India started from
Ans “ 1. Meerut

X 2. Rajkot
X 3. Bareilly

X 4. Champaran

Q.2 Which of the following stars is nearest to the sun?
Ans X" 1. Sirius

« 2. Proxima Centauri

X 3. Deneb

x 4. Betelgeuse

Q.3 Vijay Hazare was a famous Indian player associated with the sport of
Ans X 1. Boxing

< 2. Football

< 3. Rifle Shooting

of 4. Cricket

Q.4 Marfati' songs are traditional folk songs of
Ans X" 1. Afghanistan

X 2. Nepal

X 3. Pakistan

J 4. Bangladesh




Q.5 The demand for a commodity or service which is a consequence of the demand for
something else is called

Ans X' 1. Direct Demand
x 2. Composite Demand
“ 3. Derived Demand

x 4. Income Demand

Q.6 Which scientist discovered the 'Penicillin'?
Ans « 1. Alexander Fleming

x 2. Louis Pasteur
x 3. Ernst Chain
75 4. Robert Koch

Q.7 Name the national bird of Bhutan.
Ans " 1 Parrot

x 2. Magpai

x 3. Peacock

« 4. Raven

Q.8 In India, 24th January is observed as which one of the following days?
Ans x 1. National Farmer's Day

x 2. National Day of Elderly
o 3. National Girl Child Day

x 4. National Agricultural Day

Q.9 Who was the Indian Army Chief at the time of Bangladesh Liberation War?
Ans « 1. Sam Manekshaw

75 2. KM Cariappa
2% 3. Rob Lockhart

x 4. Roy Bucher
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Q.10 Who among the following wrote the book 'A History of the Sikhs'?
Ans  off 1 Khushwant Singh

/< 2. Bhai Vir Singh
75 3. Gurbachan Singh Talib

x 4. Amrita Pritam

Q.11 Which of the following authors received the Jnanpith Award in 2018?
Ans x 1. Kiran Desai

x 2. Vikram Seth
o 3. Amitav Ghosh

#< 4. Arundhati Roy

Q.12 The energy derived from the heat of Earth is called
Ans x 1. Solar Energy

“ 2. Geothermal Energy
X 3. Biogas

75 4. Tidal Energy

Q.13 Who among the following was named as the Chief Executive Officer of International
Cricket Council (ICC) in January 2019?

Ans " 1.N G Khaitan
x 2. Anurag Thakur
“ 3. Manu Sawhney

x 4. Saurav Ganguly

Q.14 The summer solstice 2019 in the Northern Hemisphere will occur on
Ans X" 1. 20th June

25 2. 24th June
75 3.26th June
( 4. 21st June
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Q.15 Which of the following creatures is oviparous?
Ans “ 1. Frog

x 2. Squirrel
/< 3. Rabbit
x 4. Mouse

Q.16 What is the term of the elected representatives of a Gram Panchayat?
Ans X" 1.2 years

( 2. 5years
x 3. 4 years
x 4. 3 years

Q.17 Which of the following is the smallest bird in the world?
Ans X" 1. Finch

75 2. Robin

“ 3. Bee Hummingbird

75 4. Diamond Firetail

Q.18 The term 'cherry picking' is used in which sport?
Ans  of 1 Basketball

x 2. Table Tennis

/X 3. Cricket

x 4. Swimming

Q.19 Which article of the Constitution of India talks about the provisions for impeachment
of the President of India?

Ans & 1. Article 51
#< 2. Article 63

/X 3. Article 54
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of 4. Article 61

Q.20 In which year was the East India Company incorporated for the exploitation of trade
with East and Southeast Asia and India?

Ans " 11596

75 2.1605
W 3.1600
X 41612

Q.21 Which of the following acids is present in ant bites?
Ans X" 1 Nitric acid

( 2. Formic acid
x 3. Perchloric acid

/5 4. Malic acid

Q.22 Jorwe culture' was a Chalcolithic archaeological site located in the present day Indian
state of

Ans  off 1. Maharashtra
/X 2. Gujarat
#< 3.Bihar
/X 4. Assam

Q.23 Fertile riverine alluvial soil is best suited for producing

Ans & 1. tea
W 2. rice
X 3. cotton
75 4.Com

Q.24 Which economist gave the theory of Opportunity Cost?
Ans x 1. John Keynes
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75 2. Milton Friedman
2% 3. Adam Smith

( 4. Gottfried Haberler

Q.25 Identify the foreigner who has been conferred the second highest civilian award in
India, Padma Vibhushan for 'exceptional and distinguished service' in 2019.

Ans “ 1. Ismail Omar Guelleh
X 2. Kader Khan
x 3. Pravin Gordhan

x 4. John Chambers
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Section : English Comprehension

Q.1 Given below are four jumbled sentences. Select the option that gives their correct
order.

A. But they faced grave danger if they tried to criticize these decisions.

B. The nationalists now began to openly criticize the policies of the British.

C. The freedom movement changed this situation.

D. Under colonial rule, the people had lived in fear of the British government and did
not agree with many of the decisions that they took.

Ans  of 1 DACB

/5 2.CBAD

#< 3.BADC

/X 4.DBAC

Q.2 Select the correctly spelt word.
Ans " 1. tuttion

X 2. tuetion
« 3. tuition
X 4. tution
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Q.3 Select the word which means the same as the group of words given.

One who is a great lover of books
Ans " 1. pedophile

X 2. xenophile
o 3. bibliophile

X 4. hemophile

Q.4 Select the most appropriate synonym of the given word.

DEFER
Ans X" 1 dread

x 2. dictate
o 3. delay
x 4. despair

Q.5 Select the correct passive form of the given sentence.

The sailors had never encountered such a rough sea.

Ans x 1. Such a rough sea was never encountered by the sailors.
x 2. Such a rough sea has never been encountered by the sailors.
x 3. Such a rough sea is never encountered by the sailors.

J 4. Such a rough sea had never been encountered by the sailors.

Q.6 Given below are four jumbled sentences. Select the option that gives their correct
order.

A. The brain is active too during sleep, sending messages for the heart to beat
regularly.

B. However, the body utilizes the sleeping time effectively.

C. We spend about one third of our time sleeping.

D. It produces energy and releases hormones for repair and growth during the night.

Ans " 1. CABD

#< 2.ABDC
o 3.cBDA

75 4.BADC

Q.7 Select the most appropriate option to fill in the blank.
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The committee reached decision regarding the appointment of the chairman.
Ans J 1. a unanimous

x 2. a compatible

x 3. an exemplary
x 4. an agreeable

Q.8 Select the correct active form of the given sentence.

We will all be greatly benefitted by this scheme.
Ans x 1. This scheme is going to greatly benefit us all.

X 2. This scheme has greatly benefitted us all.
J 3. This scheme will greatly benefit us all.

X 4. This scheme would greatly benefit we all.

Q.9 In the sentence identify the segment which contains the grammatical error.

There isn't many rice left in the house so we must replenish our stock soon.
Ans J 1. There isn't many rice

x 2. left in the house
x 3. our stock soon

x 4. so we must replenish

Q.10 Select the most appropriate meaning of the underlined idiom in the given sentence.

Due to increased number of lay offs in the industry, the sword of Damocles is always
hanging over the employees.

Ans J 1. a constant threat
X 2. strict rules and regulations
X 3. threat of physical harm

X 4. anill omen of death

Q.11 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select No improvement.

Knowing the particular things that motivate each person help you add power to their
motivation.
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Ans X' 1. help you to add power
X 2. help you adding power
x 3. No improvement

« 4. helps you add power

Q.12 Select the most appropriate synonym of the given word.

PERPLEX
Ans X" 1 deceive

o 2. bewilder
x 3. surprise

x 4. complex

Q.13
In the sentence identify the segment which contains the grammatical error.

Ten kilometres are a long distance to cover on foot for a child.
Ans o 1. Ten kilometres are

X 2. to cover on foot
75 3. for a child

X 4. a long distance

Q.14 Select the most appropriate antonym of the given word.

MEAGRE
Ans x 1. premium

o 2. plentiful
x 3. scanty

x 4. inadequate

Q.15 Select the correctly spelt word.
Ans o 1 privilege

x 2. peivailege

x 3. previledge
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£% 4. previllage

Q.16 Select the most appropriate meaning of the underlined idiom in the given sentence.

Ans

True friends stay by our side through thick and thin.

J 1. under all circumstances
75 2.in difficult times
x 3. in different weathers

X 4. in happy moments

Q.17 Select the most appropriate antonym of the given word.

Ans

ARROGANCE
x 1. sweetness

o 2. humility
x 3. superiority

x 4. vanity

Q.18

Ans

Select the word which means the same as the group of words given.

A fictitious name used by an author

J 1. pesudonym
x 2. homonym

/X 3. alibi

x 4. anonymous

Q.19
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Leaving his car with the valet, he (1) the hotel and joined the large crowd milling

(2) He found a badge waiting for him (3) the receptionist's table and took his
(4) in the rear of the hall. When the place was (5) the moderator welcomed the
crowd.

SubQuestion No : 19
Select the most appropriate option to fill in blank No.1.

( 1. entered
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< 2. accessed
75 3. admitted

/X 4. invaded

Q.20
Ans

Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Leaving his car with the valet, he (1) the hotel and joined the large crowd milling

(2) He found a badge waiting for him (3) the receptionist's table and took his
(4) in the rear of the hall. When the place was (5) the moderator welcomed the
crowd.

SubQuestion No : 20
Select the most appropriate option to fill in blank No.2.

75 1. aside
W 2. about
5 3.out
X 4.into

Q.21

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Leaving his car with the valet, he (1) the hotel and joined the large crowd milling

(2) He found a badge waiting for him (3) the receptionist's table and took his
(4) in the rear of the hall. When the place was (5) the moderator welcomed the
crowd.

SubQuestion No : 21
Select the most appropriate option to fill in blank No.3.

Ans X" 1 by
« 2. at
X 3.in
x 4. over
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
Leaving his car with the valet, he (1) the hotel and joined the large crowd milling
(2) He found a badge waiting for him (3) the receptionist's table and took his
4) in the rear of the hall. When the place was (5) the moderator welcomed the
crowd.
SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank No.4.
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Ans X 1. stand

X 2. couch
( 3. seat
X 4. lounge

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Leaving his car with the valet, he (1) the hotel and joined the large crowd milling
(2) He found a badge waiting for him (3) the receptionist's table and took his
(4) in the rear of the hall. When the place was (5) the moderator welcomed the

crowd.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank No.5.

Ans x 1. empty
x 2. stuffed

X 3. completed

o 4. filled

Q.24 Select the most appropriate option to fill in the blank.

She got a lucrative job of a translator because she was
Ans X" 1. deficient

J 2. proficient
X 3. efficient

X 4. sufficient

in French.

Q.25 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select No improvement.

Your coming home to dinner on time should be a rule rather the exception.

Ans X 1. No improvement
x 2. shall be a rule rather than a exception
« 3. should be the rule rather than the exception

X 4. should be a rule rather being the exception
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CGLE- Combined Graduate Level Tier-l, 2018 Examination

Section : General Intelligence and Reasoning
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Select the term that will come next in the following series.

OBE. PDH. QFK, RHN, ?
Ans 1 RIQ
W 2. SIQ
X< 3. SIP
< 4. SKQ

Q4 Select the figure that will come next in the following figure series.

00|00 |00 |,
OO NN N
Ans
F .O
® 0
. 90
o0
o ® O
®O®
- ® O
L I~

Q5 Arrange the following words in a logical and meaningful order.

1) Write
2) Publish
3) Author
4) Reader
5) Sale
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Ans % 1.3.2.1,5.4
X2 4,3,1,2,5
X3 1,3,2,5.4
V431,254

Q.6 Alupay D cimbee ol ee i el e ez aolBev o Al s daran, D v b e ety v Hiss gids i e
JE0 e Hinwe sy g wsses prazama e prany s e bl

Ans x1. s
V2 24
<3 22
X416

Q.7 il b secmad e incehicln e e wesrds an ebial o e e sy e il taes ek inre el i werd -z,
Mhcss . Cngpa

Ans  of 1. Solder : Tin
< 2. Nickle : Iron
#< 3. Chromium : Silver
#< 4 Bronze : Gold

Q.8 1z acods anmmrze, HULLCL it waiks ps SUDLEL, Lo will LLACLE be nyiieen in the sams langage!
Ans - X 1. GALNDS

X 2. GBLNFT

X 3. IBLNDS

v 4 GBLNDS

Q.9 |ames of rhe bocdomsg S Lettes clusters ars adike w a cectain vy and one i dfferant, Exk the odd ooz oul,
Ans of 1. NOR

X 2 KLJ
X 3. FGE
X4 ¥YZX
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Q.10  Privauk it Akehee's Souiler S b Saloion s sisler AdsEor = S oz Llow o= Bivank cebel vo Saonis
Ans  of 1. Son

7< 2. Nephew

/< 3. Father

# 4. Brother

QM1 Select the figure in which the given figure is embedded.

Ans

Q.12 maleer tha parsees mumnr ivage of e given figeoe when the morar is placed fo rhe nghe af the figirs

RTMP

Ans
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Xl atm4

vl QMY A
Al ATM9
Xel am74

Q.13 Select the terms that will replace the ? in the following
series.

Z,X,V,?2,R,P,?
Ans 1. S 0O

X2T0O

W3 TN

K4 SN

Q14 Select the term that will come next in the following series.

57,62, 31, 36, 18, ?
Ans X134

v 2 23

X 3 36

<419

Q15 4 agpeare paper is folded and cut as shown bebow. How will it appear when unfolded?
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Ans

v
X1 |:>O<:|
A
AA
xz.>O<
AA
v
B O3
b?‘?
v > g
AA

Q16 Find the missing number from the below options.

i+ 2% 3i
23 28 43

16 7 36
Ans X1. 30

V2 21

X312

X4 34

Q.17 Lhreeof rhe fallowisg fourwards ars alda= in a certain wes and ane is differser. Pick the odd meare cer,

Ans X 1. Radium
#< 2. Uranium
#< 3. Thorium
v 4 Sodium
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Q.18  _hres cf the fallowing four zusber pais aoe aliks ina cerau way aod one 15 difssen Pick the ade oue oot
Ans X 1.17-37

X 2. 65-101

v 5. 4082

X 4. 26-50

Q19 Find the missing number from the below options.

4 3 19
4] 4 40
9 9 7
Ans X 1. 72
V2 00
X 3. 80
< 4. 100
Q.20 Teeoslalinmilin st Tulkesaal By beorcaiclizinne cnnleeal Taal T 2ccarnig B iblneb e e e, e 7
e oeterrr bovhi st vz e sill somenb bneen s, deoide wemichoel e e bizne s s Bl onsds i from the
L P i
nlAlimreni=:

All martecs aw peaniem
TR SR e il

[ 1 B BT 15
ALY | W Ty i W EREA ]
E. Zoawe sleli ooz it 2eiiriers.

Ans 3 1. Only conclusion II follows
#< 2. Either conclusion I or II follows
' 3. Neither conclusion I nor II follows
/< 4. Only conclusion I follows

Q21 1f AU =21 and EGG = 245, then how will you code BAKE?
Ans X 1. 155

v 2 110

X319
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7~ 475

Q.22 ciodeot Mez o e il bonebsd neibe e o inche s v 4 he ssamlnanbes b pohe Ged iz,
i B et TR ] e
Ans  of 12471
< 2 1461
< 3. 2371
K 4. 2483

Q23 gheerful® is relared to “Sad” in the same way as “Generous” is related o
Ans o 1 Selfish

# 2 Kind

< 3. Gloomy

/< 4. Intelligent

Q24 How many triangles are there in the following figure?

Ans x 1. 32
v 2 30
<316

Q.25 which rwo sigis shoubd be lnferchanged i the following equation 1o make it correct?

g ST —-13
Ans X 1. xand —
< 2. +and x
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W 3 xand +
X 4 +and+
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Section : Quantitative Aptitude

Q1 Iftan 48 = cot(20 + 30°) ,then® is equal to:

Ans X 1. 200
X 2. 250
3 100
X 4 15°

a2 If Vx + \!1_5 = /6, then x?2 +$ is equal to:
Ans X 1. 2
V2 14
<3 36
<416
Q.3 iheeei al e cinader Tz ol e fmaies sfaeore ol leighn 20 covan: Senanl ™ coespestively. What s e

wolMRiR: SO TSI CF e cice om0
Ans  of 1. 418

X2 345

X< 3 154

X 4. 286
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Q.4 Tl Molarseing Lalde incferies: ez muanbas o Ceisbons stobong i thoa dbepliees o o onlhease

SAriplem P - | - SR
A 1B Jc  In IE |
T N ES
Coaxam N ERE S
Trwadt A |1 |3m WA |3

I= o pla-ohiam 5 dreee repureceriog mue ourcker of soasecrs b all dhve oo ll2pes, wher (o 1o oI FES [OCmeTT 70 the
sk shik: soeelcrinl et sooine nprs ooy the gt eCmlboge 11

Ans x 1. 2@
X 2 840
v 3 86°
< 4 80°

Q.5 1o el ik eame OO ATEH L A and ST 4 cherd S1el B ADCT i erraseRin, SO UL © E5 di
AL e gl .

Ans x 1. §3°
v 2 400
X3 250
X 4 450

Q.6 leasks AT sl T30l i, win Eorarescl e ol g qanisd Pagsike the izl IWANN=nen, O = 3 e 1=
Sone lhen P B n

Ans X' 1. 6.25cm
V2 4cm
<3 5cm
< 4 6cm

If cotB = 43, thensin @ + cos8 —tan © is equal to:
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@8 tfa+b =5 andab =3, then (a® + b?) is equal to:

Ans X1_ 65
<270
V'3 80
K4 75

Q.9 A e il FLEE TR PIER PR PRTAT| FRTTR EESE TR | Ol o TITIRTE R T FEIET LT N I FTERE U | FRNTRTRE TP T CTRER Ty
=t e brachevs neany monsdes Siess e Ieencdies e cegs m b

Ans  of 1. 12
X2 14
<313
X 4 15

Q10 T frellevang mble indicsres te rember af shadzoe s sdpne i thres diseiplines infars colleges:

Tozgires

¥
§|E El"

e
E|:§ =

Whatl precueilaze ol lotal aluckee.: are sludv i = Uee soenescy dloesm o all Owe alegies lopelbe™

Ans  of 1. 30%

< 2. 28%
< 3 32%
X 4. 33%

Q.11 & me: cTwiand Ml Tl ang 1 a8y Lo cifiazent et 0 Rerking gl thasy can Teishi ek be 107 ks,
L o pregny days il B akons caciphes Y53 oo dis skt

Ans X1. 3
X 2 48
K3 44
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Q.12 1h= follewing table indicabes the cumbes of studanie shedvies e tuwse dissgplines o five collsges:

P igiem & o e

i, B [ [¢] E
SCHane e |de [2H (Ao |20
Corumrse FL I E SRR L FAE
Esominkcs N EEL T EE I ]

Wint paceantnge of sodenms 0L call=ge B s sndying in the seience mres (ooTeet 1o and desinal plaes)®
Ans X' 1. 29.8%
V2 2920
K 3. 29.4%
< 4 20.6%

Q.13 Aupamicee osd dor TEAT 00 pzar srezessme disowms oF 107 ans 1078 Whan o the iapied poice of the aciicle!

Ans X 1. 900
v 2 3860
< 3. 3920
< 4. T880

Q14 rfa bt e=8 meiab | be | ea=12 thena® 1+ B | ¢®  3abe s equal to:
Ans X 1. 192

W2 224

X 3 144

< 4400

g The value of sec?28° — cot?62° + sin® 607 + cosec? 30" is equal to:
Ans 23

AR
Ko =

4
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Q.16 “Juw adhiches ace ool oop BULIDS aach Lo aze, The eellap gacte D595 mne oo foe orhier, a8 limee D% War iz his overal]
Zabn o loes CRpoEsr, oot e dec i places?

Ans 1. 0.94% gain
/< 2. 1.42% gain

< 3. 1.42% loss
v 4 0.94% loss

Q7 1fa: b = 5:3, then (8a — 5b): (8a + 5b) is equal to:
Ans X 1.3:11
K22:5
X3 3:13
vi5:11

Q.18 Tiv LRACET EFTTTR CRPUAE ERPRRE S NEE T FTRTTARPER CER L o (| PERTTTH DS G [ ERE IR PR RE TLLRRCE B e T B B g P
araese o HE neb AR regasling  Poendal sole oemad et

Ans X 1. 66.6
v 2 668
X 3. 66.4
K 4 672

Q19 The value of:

28+(h2-13%x2)-6%x3+-8+2
Ans  of 1 10.55

X 2 645

X 3 845

< 4 4.55
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Q.20 1A ATIC, AT meebus gl T s i oo AT G that AF T = 30 e Too s AN« ar LA iseguel i
Ans X 1.2:7

V2 3:14

<33:4

<43:7

Q21 yWhat iz the least value of ¥ such that 517x324 is divisible by 127
Ans « 1.5
X20
X3
X43

Q.22  The folamsing Lalve insfeisctle cunles oTsleanl shebyiog o Saessdivsiplings o i el

A_JE_c o &
Iy [TE 2 [ (1%
B I T P e

[T T

“Rer s rhe e of thes nonal oueck ar ok Frdesrs 5l:u.1'1'1.m J:|: thet seleuice Fmoann 0o Zoor of sy b ke cocttmeooe SRl
inndl Mo andhgaes s et !

Ans  of 1 16:15
X2 16:19
X3 14:15
X419:15

Q.23 Acpe- AR and T = S QR = 5 oo TIO= (s FRarAARC s 8PN = 1%, then AT i i tind
Ans  of 1 4cm

X2 5cm
X3 3cm
K 4 2cm
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Q.24 The e of seger s increased by 22 M S person wams 00 Looerse s eendsore ov 1250 oy By waar pancen

drchl bas ooz s A kel szl Bones sl pluse !

Ans X 1. 7.8%
v 2 8.2%
X 3 8.6%
X 4 10%

Q.25  [ie ciderecre bereren e sompensd Dieres and simple cieeanon T v oA SN, per Ao o 3 year 35 T2H A0 The
vake ol Logs

Ans  of 1. 4000
< 2. 3800
& 34500
& 43500
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Ans x 1. Stefan-Boltzmann Law
x 2. Newton's Law
( 3. Pascal's Law

x 4. Hooke's Law

Q.2 Which of the following is the chemical name of baking soda?
Ans x 1. Sulphate

“ 2. Sodium hydrogen carbonate
X 3. Calcium hydroxide

x 4. Sodium carbonate

Q.3 Name the woman of Indian origin who was appointed Chief Executive Officer of
PepsiCo in the year 2006.

Ans x 1. Kiran Majumdar Shaw
x 2. Kalpana Morparia

“ 3. Indra Nooyi

x 4. Chanda Kochhar

Q.4 Kandyan Dance' is a typical dance form practiced in
Ans X" 1 Nepal

#5 2. India

o 3. SriLanka

x 4. Bhutan

Q.5 India of My Dreams' is a compilation of the writings and speeches of
Ans X" 1. Dr Rajendra Prasad

« 2. Mahatma Gandhi
x 3. Jawaharlal Nehru

#% 4. Sardar Vallabhbhai Patel
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Q.6 Which Indian state launched the PRANAM Commission to protect parents of
government employees?

Ans x 1. Maharashtra

x 2. Punjab
x 3. Haryana

J 4. Assam

Q.7 InJanuary 2019, became the first Indian state to implement 10% reservation for
the economically weaker sections.

Ans J 1. Gujarat
x 2. Madhya Pradesh
x 3. Tripura
75 4. Odisha

Q.8 Who among the following is/was the longest serving prime minister of Bangladesh?
Ans  of 1 Sheikh Hasina

/X 2.Khaleda Zia
7% 3. Sheikh Mujibur Rahman

x 4. Shah Azizur Rahman

Q.9 In which year did the Patharughat Peasant Uprising against the tax policies of British
take place in Assam?

Ans X" 11873

/X 2.1885
75 3.1862
of 4 1894

Q.10 Who among the following was the first president of the Republic of China?
Ans " 1. Li Xiannian

o 2. Yuan Shikai
75 3. HuJintao

x 4. Yang Sangkun
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Q.11 The Indian badminton player who won the Canadian Open Women's Doubles title in
2015 along with Ashwini Ponnappa was

Ans J 1. Jwala Gutta
75 2.PV Sindhu
x 3. Saina Nehwal
75 4.PCTulasi

Question ID : 98958014470
Status : Answered
Chosen Option : 3

Q.12 When the output is equal to zero, the variable cost is
Ans x 1. maximum

J 2. zero
x 3. minimum

x 4. constant

Question ID : 98958014452
Status : Answered
Chosen Option : 4

Q.13 As per Mankiw's Principles of Economics, the standard of living of a country depends
on the country's

Ans x 1. average wages
x 2. government policy
J 3. ability to produce goods and services

x 4. nominal wages

Question ID : 98958014451
Status : Not Answered
Chosen Option : --

Q.14 In which year did Vasco De Gama land in Calicut (Kozikode)?
Ans  of 1 1498

/X 2.1458
/< 3.1472
X 4.1442

Q.15 Which instrument is used to measure the intensity of light produced by an unknown
source in terms of a standard source?

Ans x 1. Ammeter
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75 2. Dynamometer

« 3. Photometer

X 4. Calipers

Q.16 Who discovered the first vaccine for smallpox?
Ans X" 1. John Hunter

X 2. Louis Pasteur
x 3. Alexander Fleming

« 4. Edward Jenner

Q.17 Which Indian archer won the gold medal in the women's recurve event at the 2018
Hyundai Archery World Cup?

Ans X 1. Bombayla Devi Laishram
X 2. Dola Banerjee
« 3. Deepika Kumari

X 4. Chekrovolu Swuro

Q.18 Identify the unit of measuring intensity of sound.
Ans X" 1. Knots

X 2. Ampere
o 3. Decibels

X 4. Candela

Q.19 Who among the following was the first chief minister of Kerala?

Ans X" 1. Pattom A Thanu Pillai
( 2. E M S Namboodiripad
X 3. R Shankar

X 4. C Achutha Menon
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Q.20 The 'Diphu Pass' which is the tri-junction between India, Myanmar and China is on this
Border Line?

Ans  of 1. McMahon Line
x 2. Durand Line
#< 3.Radcliffe Line

75 4. Palk Strait

Q.21 Kazi Nazrul Islam is the national poet of
Ans x 1. Pakistan

x 2. Afghanistan

« 3. Bangladesh

x 4. Indonesia

Q.22 Manipur, Meghalaya and Tripura became states under

Ans x 1. North Eastern Region New State Act, 1972
x 2. North Eastern Republic of India Act, 1972
x 3. North Eastern Retention (Reconstruction) Act, 1971

« 4. North Eastern Areas (Reorganisation) Act, 1971

Q.23 In January 2019, was named World No.1 boxer by International Boxing
Association (AIBA).

Ans X" 1. Simranjit Kaur
x 2. Lovlina Borgohain
x 3. Laishram Sarita Devi

“ 4. Mary Kom

Q.24 Daringbadi hill station is located in the Indian state of
Ans x 1. Kerala

of 2. Odisha

X 3. Maharashtra

x 4. West Bengal
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Q.25 Which of the following is the third highest waterfall in India?
Ans X" 1. Courtallam Falls

< 2. Suruli Falls
of 3. Thalaiyar Falls

X 4. Agaya Gangai
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Section : English Comprehension

Q.1 Select the most appropriate antonym of the given word.
COVETOUS
Ans x 1. avaricious
x 2. acquisitive
x 3. mercenary
« 4. benevolent

Q.2 Select the most appropriate antonym of the given word.

CRUCIAL

Ans  of 1 trivial
x 2. critical
x 3. imperative

x 4. pivotal

Q.3
In the sentence identify the segment which contains the grammatical error.

My father dissuaded me to try for a job as he wanted me to pursue higher studies.
Ans x 1. My father dissuaded me

X 2. as he wanted me
x 3. to pursue higher studies

( 4. to try for a job

Q.4 Select the most appropriate option to fill in the blank.

The ship sailed smoothly owing to winds.
Ans X" 1_tempestuous

( 2. favourable
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£% 3. boisterous

X 4. turbulent

Q.5

Ans

Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select No improvement.

Some agitating miners allegation that there is no emergency measures inside the
mines.

x 1. miners' allege that there is
X 2. No improvement
«. 3. miners alleged that there were

X 4. miner's allegation that there are

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Ironically, the dams that were constructed to (1) floods have triggered floods due to
sedimentation in the reservoir. The (2) of water from dams during heavy rains
aggravated- the flood situation (3) Maharashtra and Gujarat in 2006. The floods

(4) not only life and property but also caused soil erosion. Sedimentation (5)
the plains of silt, a natural fertilizer.

SubQuestion No : 6

Q.6 Select the most appropriate option to fill in blank No.1
Ans X" 1. reduce
« 2. control
x 3. resist
x 4. dominate
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
Ironically, the dams that were constructed to (1) floods have triggered floods due to
sedimentation in the reservoir. The (2) of water from dams during heavy rains
aggravated- the flood situation (3) Maharashtra and Gujarat in 2006. The floods
(4) not only life and property but also caused soil erosion. Sedimentation (5)
the plains of silt, a natural fertilizer.
SubQuestion No : 7
Q.7 Select the most appropriate option to fill in blank No.2
Ans x 1. restraint

x 2. collection

( 3. release
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< 4. liberation

Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Ironically, the dams that were constructed to (1) floods have triggered floods due to

sedimentation in the reservoir. The (2) of water from dams during heavy rains
aggravated- the flood situation (3) Maharashtra and Gujarat in 2006. The floods
(4) not only life and property but also caused soil erosion. Sedimentation (5)

the plains of silt, a natural fertilizer.

SubQuestion No : 8

Q.8 Select the most appropriate option to fill in blank No.3
Ans X 1. among
x 2. through
X 3. along
W 4.in
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
Ironically, the dams that were constructed to (1) floods have triggered floods due to
sedimentation in the reservoir. The (2) of water from dams during heavy rains
aggravated- the flood situation (3) Maharashtra and Gujarat in 2006. The floods
(4) not only life and property but also caused soil erosion. Sedimentation (5)
the plains of silt, a natural fertilizer.
SubQuestion No : 9
Q.9 Select the most appropriate option to fill in blank No.4
Ans

X 1. devoured
x 2. plundered
X 3. smashed

( 4. devastated

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Ironically, the dams that were constructed to (1) floods have triggered floods due to
sedimentation in the reservoir. The (2) of water from dams during heavy rains
aggravated- the flood situation (3) Maharashtra and Gujarat in 2006. The floods
(4) not only life and property but also caused soil erosion. Sedimentation (5)

the plains of silt, a natural fertilizer.

SubQuestion No : 10

Q.10 Select the most appropriate option to fill in blank No.5
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Ans

#< 1. destroyed

J 2. deprived

/X 3. disabled

75 4. distributed

Q.11

Ans

In the sentence identify the segment which contains the grammatical error.

The length of a male swallow's tail reveal his attractiveness for a female swallow.
x 1. his attractiveness for

75 2. The length of
J 3. a male swallow's tail reveal

x 4. a female swallow

Q.12 Select the correctly spelt word.

Ans X" 1. desperete
X 2. desparate
x 3. disparat
J 4. desperate
Q.13 Select the most appropriate option to substitute the underlined segment in the given

sentence. If no substitution is required, select No improvement.

The big farmers with deepest tubewells still have water, but many others face a water
crisis.

Ans X" 1.in deep tubewells
X 2. No improvement
x 3. through deepest tubewells
J 4. with deeper tubewells
Q.14 Given below are four jumbled sentences. Select the option that gives their correct

order.

A. But the rest of the students were rushing past her for a break, like she didn't exist.
B. She slowly pushed open the library door and took a seat at one of the tables in the
corner.

C. And today, Jessica really felt like maybe she didn't exist.
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D. When the bell rang for lunch, Jessica took her lunch box and started moving
towards the library.

Ans  of 1 DACB

75 2.cADB

/< 3.DBCA

75 4.BDCA

Q.15 Select the most appropriate synonym of the given word.

TACITURN
Ans X" 1. phlegmatic

75 2. placid
( 3. reticent

X 4. talkative

Q.16 Select the most appropriate option to fill in the blank.

A speech is certainly more effective than one which is verbose.
Ans ( 1. laconic

x 2. sullen
x 3. lengthy
x 4. surly

Q.17 Select the correctly spelt word.
Ans " 1. tution

x 2. voilation

75 3. afliction
of 4. exhibition

Q.18 Select the most appropriate synonym of the given word.

MAMMOTH
Ans x 1. magnificent

x 2. perilous

x 3. miniscule
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J 4. gigantic

Q.19 Select the correct active form of the given sentence.

Heavy taxes have been imposed on luxury items by the government.

Ans J 1. The government has imposed heavy taxes on luxury items.
x 2. The government had imposed heavy taxes on luxury items.
X 3. The government imposed heavy taxes on luxury items.

x 4. The government is imposing heavy taxes on luxury items.

Q.20 Select the word which means the same as the group of words given.

A place where fruit trees are grown
Ans x 1. garden

x 2. farm
“ 3. orchard

x 4. plantation

Q.21 Select the most appropriate meaning of the underlined idiom in the given sentence.

A mountaineer has to walk the tight rope as a small slip can prove to be fatal.
Ans  of 1.be very cautious

x 2. be well trained
x 3. be very nervous

x 4. be an expert

Q.22 Select the word which means the same as the group of words given.

A place for storing guns and military equipment
Ans X" 1 aviary

x 2. archive
X 3. apiary
( 4. arsenal
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Q.23 Select the correct passive form of the given sentence.

She never trusted anyone.

Ans x 1. Anyone is not trusted by her.
x 2. Her trust was never for anyone.
x 3. She was never trusted by anyone.

J 4. No one was ever trusted by her

Q.24 Given below are four jumbled sentences. Select the option that gives their correct
order.

A. Then, they spread as the unmined coal starts burning with oxygen drawn from
pores and mine shafts.

B. An entire township- Jharia is to be relocated because of the uncontrollable
underground fires.

C. These fires start mostly from burning trash close to coal pits.

D. This is a grave threat as poisonous fumes of carbon monoxide rise up from
underground fires.

Ans X" 1 CDAB

o 2.BCcAD
75 3.BDAC
/5 4.DCAB

Q.25 Select the most appropriate meaning of the underlined idiom in the given sentence.

The boss is going to blow his top when he discovers the blatant mistake in the
balance sheet.

Ans J 1. be very angry
X 2. be very embarrassed
x 3. dismiss from job

X 4. attack fiercely
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CGLE- Combined Graduate Level Tier-l, 2018 Examination

Section : General Intelligence and Reasoning

@1 How many triangles are there in the following figure?

Ans X1, 34

Q2 Find the missing number from the below options.

6 24 96
7 28 148

13 52 9
Ans X1, 142

X2 232

<3 116

4 208

Q.3 | ews of the fodomimg fnw befies clusoers are adike w a cectain vy aud one s ddfersnl. Fock the cdd pos oul.
Ans X 1. GTXC
< 2 HSYB

< 3. QIUF
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v 4 DWKO

Q4

Ans

Torovalalonmeals e wivan Milkovasl by vas comclicamz el Taal I S cameang e dolancnls belss e o il
Were et Binhe abwosrsnseesnib cnmnanly buer Gaes Secileslod o7t concliesoe s Bpiealbe ik <) i ile
L oot

flAalrmrniz=:

All uzans as zapsao,

Al otpEors are rEeclises.

Crnimcislires

L Soims eachecs A0 Saranrs,
E St taachers ane hiimenss,

#< 1. Either conclusion I or II follows
#< 2. Only conclusion II follows
/< 3. Only conclusion I follows

« 4. Both the conclusions follow

Q.5

Ans

el e ppling e 32 celaied o beimie] wennk i e s e e e secasd wend D palsted e the Zimd wes:l
[ HEEEEE-T E R T T

<1 Milk

< 2 Salt

o 3. Sugar

< 4. Butter

Q.6

Ans

Select the term that will come next in the following series.

2T 5. 509
<1126
V2 77
< 3 134
< 4 102

Q.7

Ans

LTS BRI FTER | EUREERE P (R | PEY HHT STV PERR R | PERET TR ECer s | EEPEE SRR TTIT B RERPEE PR FERRRY | PERrTe BT FES

e

o135

1. 135
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<2175
V3 174
<4 124

Q.8  hreeaf rhe Sllosvey fonrvearcs ars alde inoa cartnin war and anz is diffeeser. Pick the add ware cor

Ans X 1. Earth
& 2. Mars
W 3. Metis
/< 4. Tupiter

Q.9 uwr el pusilivees o0 cboe e slhioven koo Wehiv mombe sppeecs oo the Giow cppoeze e nomher -1

Ans X1_

N Gh [

X
AW
W

Q10 1fN =28 and ORE = 76, then how will you code PALE?
Ans x 1. 76

V2 68

<319

X472

Q.11 I ncode ansmage. BALNLLR I writen an SULEWGLE Low ndll WHL LUK be wrns o the sawe linguage:
Ans X 1. ZTLVGV

v 2 ZTLVHT

& 3. ZTLVHU

X 4 YTLVHT
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Q.12 widnd is bres limascws sl a4 sk lune &Ter R b R DERER ] BT L ER P EAUE T R B R L H TR Tl (T T e
whiab will o Viskoy s age”

Ans 3" 1. 24 years
/< 2. 32 years
/< 3. 48 years
W 4. 40 years

Q.13 Inlzisbim e Tk, Vijay aaic, Sk s m wiles by Dealler ey nnlia,” How b Bokoeet s nelunl clizs: i
-

Ans X 1. Father-in-law
v 2. Brother-in-law
#< 3. Father
< 4 Son

Q14 wWhich two signs should be inrerchanged o make the given aquarion corrset!

125 §+36+23—6=[02
Ans X' 1. +and—

/< 2 X and +

V'3 +and+

/< 4 =and X

Q.15 ©dkare: e Simm iz am Toen e wison ek adizhbes copesssnie e sclaicnasipeaomengzd e Bioeig clasas

o, Taboe, Soockery
Ans

o1

> 2
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Vs OO

OO0

Q16 Select the figure that will come next in the following figure series.

L

= [zl
@[k AT ?
= i =

Ans

x|k ¥
M

Q17 Select the figure in which the given figure is embedded.

Ans —
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Q18 Find the missing number from the below options.

50 31 9
43 11 6

S
Ans X1_9
X2s5
W3 7
X4

Q19 Arrange the following words in a logical and meaningful order.

1. Brass

2. Gold

3. Silver

4. Platinum

5. Iron

Ans 1. 2RSS
XZ 55493127 ]-
“3' 57 1931 2:4

31,5, 2,4

Q.20
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‘Stag’ is related to ‘Do in the same way as “Bull’ isrelated to
Ans  of 1. Cow

< 2. Mare

#< 3. Vixen

& 4 Ox

Q.21 4 squage paper 15 folded acd cut 63 abown below. How will i appear wihen undopded?

" JOAR

Ans o

> 1 oo

<1 0D
o) O

| &

X 2
[s] o{’
000 O

Vil
o <>{>O
[} O

x4 l:lc'l:l
EIGD
O a

Q22 gelect the letter cluster that will come next in the following series.

GZI HYT, IXK, TWL, ?
Ans X' 1. LVM

X 2. KUM

v 3 KVM

K 4 JVN
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Setact the correct mdrror mage of e ghven figure wihen the mirror B placed to the cight
of the figure,

.
5]

4

A

Ans

X
N o

O
Ay S

X
[N ate
O

¢ N N[N

X
I T ]
O

s
LA R
@]

Q.24 | zews of the fodomisg Soow nuntkes pairs ars alike o g zeain way sod ene s iz Pl the oo d ons ot
Ans  of 19— 164

X2 7-126
<311 — 198
K4 13-234

Q.25 Select the terms that will replace ? in the following series

K,M,0,?,S,U,?2,Y
Ans X1 Q, X
X2 RW
NX3PEW
viQW
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Section : Quantitative Aptitude

(@ T I (TR T Y O P R T E R ] [ LS T TTRR-N B ISFFE A | TR Lt U S R TR T I R T TR Bl | IR DR T IS
Ans X1 4:7

v22:7

K3 2:5

K4a1:3

Q.2 ih#ciderece terwaan b comzorns imeses) and amsle uveceston Tal T par s bas E vear iz TS Wk i
thee vk bt

Ans 1. 9,000
+ 2. 8,000
X 37,000
X 410,000

Q.3 The bkl nlasaea il Jeerenbaps e sukone s e calin el e anl pids e e emn s sInsen o7 mlbops

Vil sodecis = 2500

E"_, T
Fags Cob | 02 LR 34

W s e rane of useait e Aane = O aed 117
Ans X1 11:13

v26:7

aavri: 13

K4 9:11

li

14
[
1

-
L
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Q.4 AGiAr =i e Mot Qe Tarafd s o 508 Lowa ellaziend e L W koo fepetleer, thoy can e e d ads in 0
beotare, In Lo 2oy borses sl O alopes oouposia 1535 of daar iask?

Ans X 1. |4
<213
X315
v 16

Q.5  Thewabie bl el e juezzaiave ef slobone s e satin el heees sanl pids i ez s sinzene o7 ol

LAl chueers = 22

i CE =] 5 as S

foHedonh | 5P [ e P 155
Fap irds |1 3 ] 1 e i04 a0

WEAT 1S T T 30 TonT and Dok in e colksze?

Ans o 1 11

5:6
K37:8
6:7

Q.6 il s el 400 sdiplans, 450 g ) N TR TR TL TTE TR T FRE BER LT O] R CETNENT] B TS 1T T8 T S TP R T
L e R ETEE R | LRSS TRLRT] S FH EPE

Ans X' 1. 49.5
<2 498
V3 496
X4 497

Q.7 Tlaztadade b iwdicnlas e peonasieps o seoni sl il adin e g sl gids io e varmeainaans ol s onlizie
Ulizhal sredanm = 2600

B L3 LT HE ez |
] (T S 1 . SO ] . S | T |
Teeas Gk 1:1 P A [ | i | |

IE Wi épin mhou) e mmicer of pols ennslied nee vanm s @i i cepoeeeres by a se-cke, whstisthe ceool
azzl= oo the sacior pepresenmis rhe sueher of gircs Inche 2AE strevcn o0 the peanesr nofiole degpea®

Ans “1_ 770
X 2 70°
X 3. 68°
X 4. 740
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Q8 The value of cot® 62 — sec? 28° + cosec?30° + tan®60° is equal to;
Ans 16
1.2
o 3
. 10
2 i—
x 3
V36
<48

If cosec 8 = E . then sin 8 + cos 6 — tan@ is equal to:

Ans 71

Ko

65

ve— =

&5
139

X3 —

65
91

Xa 2

65

Q.10 Auramizle s meld 2o T1 G50 atrer o eocassore deoenrr o2 200G aid L8 Wiar £ e marksd prics of the amcls!
Ans X 1. 32,200

v 2 32,500

< 332,300

X 4 32,400

Q.1 The e il e bwr s b Gaees oo A T e e ans 3 ol 4 v 10 Tesight 0 Siedum 1,
'i'.mrls.'.nnurlnrmh:l;:l:—‘-?;.]
Ans  of 1. 1342
< 2 902
< 3 1056
< 4 638
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Q12 The value of:

Ans

72+(84 +0.12 x0.2)—5x3 +-0.05+3

K1 —758
v 2 —27538
~3 212

X4 —1758

Q.13 mzeiale with conem VAR Bk St b U oo e s bl 08T 0w g T E WAl m e il

Ans

A0 g
X1 18°
W 2 540
X 3 36°
X 4 720

Q.14

Ans

If (a +b) =6 and ab=§,then(a3+b3) is equal to:

X< 1220
v 2 120
& 3 150
& 4190

Q15 Ifa:b=2:3andc:b=5:6,thena:b:cisequalto:

Ans X 1101154718

X26:9:16

X<36:9:12

vi4d4:6:5
Q.16 Adrs = AEMi e P = G G = T ez el PEs S cm L srl 24007 0 s ARG em D2 e AR i mgoal e
Ans

X1 lem
X2 4cem
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23 37cm
(4- 2cm

Q17 fa+ b+ =dand ab + e + o0 =4, then @® + 8 + 0% — 3 abe [z oqual to:
Ans X 1. 148

v 2 144

< 3 154

< 4. 160

Q18 1fsin® = cos(50°+ 0), then 0 is equal to:
Ans X 1. 30°

< 2 250

V'3 200

< 4 350

Q.19 A ie it FLEE TR PTER PR PRTAT| FRTTR EEETRUCEY | CORE el CITIRTY 1R LT OIS T I8 FTERE U | FRNT TR TR ICP L CURERT
sl e Frachevss neany oo Siess e Ieen s Scaae cegs b

Ans  of 1. 10
X212
<38
X4 6

Q.20  Tleztad:le feshow inalicales flae ponacriipes o shefons el e celined g melpida o e e dromenla eslige
Ulilpl strbaptn o= 26040

Hren ] (=] L RE =3
A traden | B 155 e il 157
8RR ] 1:2 q:1 ] ALF e L

Tocaduich s, baothe i s o 1l pergaidigns o Lo Al g Bomiiodn?

Ans «1. EC
X 2. ME
N an0s
XaIr
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Q.21 Teosulela &7 azal S Tanla vicl wlan ezl nese w o peid Mok bocinde IWANN= e, 1= Gain T =
Do e 03 azpual

Ans o 1. 975 cm
K2 7.75cm
K3 75cm
< 4 825cm

Q.22 Jwn amilen are cnke bor T 00 eac 00z poe, tae sallar pance 162 acd on the stteer 1e laees 1045 What s b sverall
TN SefoRnr Beacest 2 T daslomd plizest

Ans X' 1. 0.14%
X2 0.12%
v 3 0.08%
X 4.0.10%

Q.23
Ifﬁ—;—; = V6, then 12 +iz is equal to:

Ans X1 40
X2 54
v 62
X 4 66

Q.24 Tl prive nlaam ix fnanevaad by 1% 2 posim wocls s izoneia: his oscowdings By oy Ty el aeal kbl
lezsheenaas o coanplion, eaares s e ibesine plass!

Ans X' 1. 7.9%
<2 8.1%
'3 7.7%
X 4 83%

Q25 1 the six digit number 4x573) is divisible by 72 then the value of (x + ¥) is:

Ans (1_ ]
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K24
K309
K46



SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF

SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF


Section : General Awareness

Q.1 The 'Tanakh' is the sacred text of which religion/sect?
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Ans X 1. Confucianism

X 2. Taoism
o 3. Judaism

75 4.Zen Buddhism

Q.2 Which of the following Indian authors is one of the four screenplay writers of the
movie 'Kai Po Che'?

Ans “ 1. Chetan Bhagat
x 2. Ravinder Singh
75 3. Amish Tripathi

X 4. Durjoy Datta

Q.3 The Indus Water Treaty was signed between India and
Ans & 1. China

“ 2. Pakistan

x 3. Afghanistan

X 4. Bangladesh

Q.4 In which part of the female flower does fertilisation take place?
Ans x 1. Stigma

#< 2. Filament
/X 3.Style
« 4. Ovary

Q.5 The Constitution of India was amended for the first time in which year?
Ans X" 1. 1954

75 2. 1961
< 3.1960
of 4 1951
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Q.6 In which year was the 'Battle of Goa' fought?
Ans X 11514

o 2 1510
/< 3.1502
/X 4.1524

Q.7 The interest rate charged by banks on short-term loans to their largest, most secure
and most creditworthy customers is called

Ans x 1. Discount Rate
x 2. Amortised Rate
#< 3. Variable Rate

« 4. Prime Lending Rate

Q.8 In which province of China is the Huangguoshu National Park located which houses
the world'’s largest waterfall cluster.

Ans x 1. Yunnan

o 2. Guizhou

x 3. Shandon

x 4. Jiangsu

Q.9 The 'Friendship Highway' is a road that connects China to
Ans « 1. Nepal

#< 2. Pakistan
x 3. Myanmar

75 4.India

Q.10 World Water Day' is annually celebrated on
Ans x 1. 13th August

75 2. 15th January
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o 3.22nd March

X 4. 2nd June

Q.11 Who among the following is the only Indian to have won the Amateur World title in
both, snooker and billiards?

Ans x 1. Michael Ferreira
o 2. Pankaj Advani
75 3. Geet Sethi
x 4. Subhash Agarwal

Q.12 Bhavai' is a traditional dance form of

Ans X" 1. Maharashtra
75 2. Punjab
75 3. Bihar
( 4. Gujarat

Q.13 The former princely state of Tripura in the north-eastern part of India was ruled by
Dynasty.

Ans ( 1. Manikya

x 2. Nagvanshi

/5 3. Ahom

75 4. Haihaya

Q.14 In 2019, Harsh Vardhan, the union minister for Environment, Forest and Climate
Change launched the India Cooling Action Plan (ICAP). On which day was ICAP
released?

Ans o 1.8th March
< 2. 26th January
X 3. 27th February

75 4.15th February
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Q.15 Cash Reserve Ratio (CRR) is calculated as a percentage of each bank's
Ans x 1. credit growth

“ 2. net demand and time liabilities
75 3. rate of inflation

x 4. savings of customers

Q.16 Which Indian author wrote the book 'The English Teacher'?
Ans x 1. Khushwant Singh

( 2. R K Narayan
75 3. Vikram Seth

#< 4. Ruskin Bond

Q.17 Which one of the following is the highest altitude lake of Pakistan?
Ans x 1. Satpara Lake

#< 2. Rush Lake
( 3. Paristan Lake

75 4. Attabad Lake

Q.18 became the most successful doubles player in the history of Davis Cup
as on 2018.

Ans x 1. Henri Leconte
x 2. Mark Woodforde
x 3. Leon Smith

“ 4. Leander Paes

Q.19 When was the Constitution of Pakistan enforced?
Ans X" 1 1952
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75 2.1965
of 3. 1973
X 4.1047

Q.20 assumed the title of '‘Gangaikondachola’ or the conqueror of the river Ganga.

Ans « 1. Rajendra Chola |
75 2. Vijayalay Chola
/5 3. Rajadhiraja Chola

75 4. Rajaraja Chola |

Q.21 About 70% of the sun is made up of
Ans « 1. Hydrogen

x 2. Carbon

75 3. Helium

x 4. Oxygen

Q.22 Which of the following was a port city of the Indus Valley Civilization?
Ans " 1. Rakhigarhi

o 2. Lothal

x 3. Dholavira

75 4. Kalibangan

Q.23 The phrase 'Survival of the fittest' as a way of describing the mechanism of natural
selection was coined by

Ans X" 1. Louis Pasteur
« 2. Herbert Spencer
X 3. Charles Babbage
x 4. Marie Curie
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Q.24 Night Blindness is caused by the deficiency of Vitamin

Ans x1_c
A
K 3.B12
& 4K

Q.25 DNA is stored majorly in of the cell.
Ans X" 1. cytoplasm

« 2. nucleus
< 3. golgi body

X 4. plasma membrane
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Section : English Comprehension

Q.1 Select the correct active form of the given sentence.

Superstitions are still believed in by people.
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Ans x 1. People are still believing in superstitions.
J 2. People still believe in superstitions.
x 3. People have still believed in superstitions.

x 4. People still believed in superstitions.

Q.2 Given below are four jumbled sentences. Select the option that gives their correct
order.

A. But that is for an emotional reason.

B. Learning our mother tongue is important and everyone should start there.
C. This is because proficiency in the language can lead to better opportunities.
D. Learning English, however, is important for practical reasons.

Ans X" 1 BDCA

#< 2.DACB
o 3.BADC
75 4.DBAC

Q.3 Select the most appropriate antonym of the given word.

VIGILANT
Ans J 1. careless

x 2. careful
x 3. elusive
/X 4. visible

Q.4 Select the most appropriate synonym of the given word.
CONCISE
Ans X" 1 lengthy
x 2. complex
of 3. brief
X 4. detailed

Q.5 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select No improvement.

She was so tired to work any longer.
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Ans x 1. so tiring to work
J 2. too tired to work
x 3. No improvement

x 4. so tired to not work

Q.6 In the sentence identify the segment which contains the grammatical error.

The child along with his parents were waiting for the programme to begin.
Ans x 1. programme to begin

#< 2. The child
x 3. along with his parents

J 4. were waiting for the

Q.7 Select the most appropriate meaning of the underlined idiom in the given sentence.

One must learn to prioritize in life. It never pays to put the cart before the horse.
Ans 3" 1_do things spontaneously

J 2. do last things first
x 3. postpone till the last moment

x 4. perform many tasks simultaneously

Q.8 Select the word which means the same as the group of words given.

The act of looking back on past time
Ans x 1. inspection

x 2. introspection
J 3. retrospection

x 4. circumspection

Q.9 Select the most appropriate synonym of the given word.

EXALT
Ans X" 1. extract

X 2. condemn



SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF

SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF


#% 3.challenge

« 4. praise

Q.10 Select the correctly spelt word.
Ans “ 1. argument

x 2. argeument
x 3. arguement

x 4. arguemant

Q.11 Select the most appropriate meaning of the underlined idiom in the given sentence.

His success at such a young age speaks volumes for his talent.

Ans X" 1. showers praise
x 2. publically announces

« 3. gives enough proof
x 4. boasts a lot

Q.12 Select the most appropriate option to fill in the blank.

We should never with the rules of driving.
Ans X 1. trifle

“ 2. tamper
x 3. reckon
x 4. temper

Q.13 Select the word which means the same as the group of words given.

That which cannot be satisfied
Ans X" 1. incredible

¢ 2. insatiable

x 3. improbable

x 4. impossible
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Q.14 Given below are four jumbled sentences. Select the option that gives their correct
order.

A. The first of these states that the only way to have a friend is to be one.

B. Like all relationships, it is also governed by some well-defined principles.
C. Friendship is one of the most coveted relationships on earth.

D. Thus, one must be reliable as a friend to expect reliability in others.

Ans " 1 BDAC

o 2.ceaD

/5 3.ACBD
/X 4.CDBA

Q.15 In the sentence identify the segment which contains the grammatical error.

He is more smarter than his brother though he does not earn much money.

Ans x 1. than his brother
X 2. though he does not earn
X 3. much money

J 4. He is more smarter

Q.16 Select the correctly spelt word.
Ans " 1. menipulate

J 2. manipulate
x 3. manipulete

x 4. manepulate

Q.17 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select No improvement.

He made a desperate but also partial successful effort to change the ghastly topic.
Ans x 1. though part successful effort

( 2. but partially successful effort
X 3. yet also partial successful effort

x 4. No improvement
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Q.18 Select the most appropriate antonym of the given word.

EXTRAVAGANT
Ans X" 1. deficit

x 2. pauper
x 3. generous

of 4. thrifty

Q.19 Select the correct passive form of the given sentence

It is time to serve dinner.

Ans J 1. Itis time for dinner to be served.
x 2. Itis dinner serving time.
x 3. Itis time that dinner is serve.

x 4. It is time so dinner should be served.

Q.20 Select the most appropriate option to fill in the blank.

The accident victim to his injuries before he could be taken to the hospital.
Ans x 1. submitted

75 2. subscribed
X 3. surrendered

J 4. succumbed

Comprehension:

alternatives given. Select the most appropriate option for each blank.

The Bhopal gas tragedy has been described as the world's (1) industrial disaster.
Forty two tonnes of methyl isocyanate (2) from the steel containers (3) the
Union Carbide factory and released a cloud of (4) gas.lt left a legacy of instant and
(5) death.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank No.1
Ans X 1. worse

X 2.bad
x 3. best
J 4. worst

In the following passage some words have been deleted. Fill in the blanks with the help of the
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Q.22

Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

The Bhopal gas tragedy has been described as the world's (1) industrial disaster.
Forty two tonnes of methyl isocyanate (2) from the steel containers (3) the
Union Carbide factory and released a cloud of (4) gas.lt left a legacy of instant and
(5) death.

SubQuestion No : 22
Select the most appropriate option to fill in blank No.2

Ans X" 1 flowed
X 2. emitted
X 3. released
o 4. leaked
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
The Bhopal gas tragedy has been described as the world's (1) industrial disaster.
Forty two tonnes of methyl isocyanate (2) from the steel containers (3) the
Union Carbide factory and released a cloud of (4) gas.lt left a legacy of instant and
(5) death.
SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank No.3
Ans B 1. beside
o 2 at
x 3. across
x 4. along
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
The Bhopal gas tragedy has been described as the world's (1) industrial disaster.
Forty two tonnes of methyl isocyanate (2) from the steel containers (3) the
Union Carbide factory and released a cloud of (4) gas.lt left a legacy of instant and
(5) death.
SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank No.4
Ans

x 1. abominable

x 2. incurable
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of 3. deathly
x 4. merciless

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

The Bhopal gas tragedy has been described as the world's (1) industrial disaster.
Forty two tonnes of methyl isocyanate (2) from the steel containers (3) the
Union Carbide factory and released a cloud of (4) gas.lt left a legacy of instant and
(5) death.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank No.5

Ans

x 1. averted

x 2. detained

x 3. momentary
( 4. deferred
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CGLE- Combined Graduate Level Tier-l, 2018 Examination

Section : General Intelligence and Reasoning

@1 Find the missing number from the below options.
4 6 7
5 3 g
41 45 58
Ans x 1. 12
<29
V33
X 4 51
Q2 Arrange the following words in a logical and meaningful order.
1. Kidney
2. Heart
3. Brain
a. Thyroid gland
5. Liver

Ans  of1.3,4,2,5,1
752 3. 4508 5
X340 405
75 4.3,2:4,5,1

Question ID : 98958013875
Status : Answered
Chosen Option : 1

Q.3
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Select the figure that will come next in the following figure series.

9 E6V]

Ko

Ans

X
Ol K2 2] K2

Question ID : 98958013892

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.4 sedact e sersdchnierer image of the gives fowe el o venicad cumor o pleces o the cishi of il oo,

=
Ans
2 [=N

Q.5  Hodud il eecampann i el e e ik wie vzlalaal o e sanc ey e e fvve mneske inthe flbey iy cnsnl4eain
Widir . Fig
Ans X 1. Asafoetida : Cashew nuts

7< 2. Turmeric : Spices
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« 3. Raisin : Apricot
/< 4. Almond : Dry fruits

Q6 ‘Inzuiin® is related fo “Hormone: in the same way as “Pepsin iseelated o
Ans X 1. Vitamins

/< 2. Stomach

+ 3. Enzymes

/< 4. Digestion

Q7 Select the letter cluster that will come next in the following series.
ADH, XAE, UXB, RUY, ?

Ans X 1. OSV
v 2 ORV
< 3. ORU
< 4 PRV

@8 Find the missing number from the below options.
9 25 49
G 11 13

9 16 2
Ans x1_ 19

v 2 20

< 3 21

<418

Q.9
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Crner ebonw ba o i Ldiead ol zageen wallea pallony cnc e T el vl =ike, s el he pen sconsgpear selea

b rpapmpuaretnt sheet i doddadd o e doimes i

_|

b1

Ans

Q.10 b the quiican thal B ek el Trinl owobeer ie il senee wes aa e ssssaninaniz b adusl e e Do nanta,

e LLRES i

Ans  of 130
X2 25
<3 40
X 4 35

Q.11 Lhreeof rhe fallosigy fourwards are alda= ieoa cedain was and anz is differeser. Pick the add ware cor

Ans X 1. Truthfulness
/< 2. Integrity
/< 3. Honesty
« 4 Hypocrisy

Q.12 | Eewa of the fodomisg Sonw Letter clusears ars adiks i a cedtain way and ons i ddferan). Bk the cdd ons oul,
Ans - X 1. PUYBD
X 2. JOSVX
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X 3 EINQS
v 4 TYBEG

Q.13 Select the number that will replace ? in the following
series.
120, 128, 144, 168, ?, 240
Ans 1. 202
<2 216
v 3 200
< 4 208

Q14 A + B means *A is the mother of B’
A — B means “A is the father of B’
A x B means “A is the sister of B*
A =+ B means *A is the daughter of B’

IfP+R xT—Q+S+U, then how is S related to T?
Ans % 1. Daughter
X 2 Sjster

v 3 Wife
/< 4. Mother

Q.15 |zrws of the folomizg Sonw numbes pairs ars alike o a cedain way wod ens z diffaranl. Pk ihe ofd ons cut
Ans X' 1.2:4

X2 14:196

V'3 12244

X4 4:16

Q.16 i sowde lognegae SELF TN 2ol FARLTNTG How o T ROATAT O A B v i i il eane: lunsnase?

Ans X' 1. NOTSBLGAI
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2. ONTSBGLAI
X 3. ONSTBGLAI
X 4. ONTSZGLAI

Q.17 thesus al s rsnbaes ol Fvasse sml Kdelee e 20 sean sz 4 Beslne s iwics sxanb e Malizlha,
Whart 25 BLlsind’s orirear aget

Ans  of 1. 30 years
< 2. 20 years
< 3. 15 years
< 4. 10 years

Q18 How many triangles are there in the figure given below?

A\

[T TN

Ans X1. 36
v 2 30

X3 32
X4 24

Q19 wWhich two signs should be interchanged ro malkes the given equation comest?

T=53—-|8§+2=2=158
Ans X1 +and—

2 +and+

< 3 xand+

X 4 +and x

Q.20
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Select the term that will réplace the question mark (1) in the following series,
AG LA ARV

Ans X1. N
<2Q
Vs P
<40

Q21 Select the figure in which the given figure is embedded.
(Rotation is not allowed)

Ans
v
-‘-‘-"‘1.
PV e
X2
-‘.\-"“1.
xs
e
X e
v
Q.22 tnsovnle b, i TCTERE  sanloal s 1003502 13 than ey sl FUMECTICN i salac i Pre e lenguane?

Ans X 1. 6211432091413
W 2 6211432091514
& 3 6211332091513
< 4. 6211432081514

Q.23
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Ans

Ire M onmnilis g pivass bl e cinck: apnesacds 0 aliea haiengse copnzasie fOmedsble el e apon:

reprzszies “ROnrued persass’ The mushiers 2hver W the dlEgTA fepOSENS NG 2T COpErsons o tiar pametias
LAy

Huros irgnns larly ecociabies are PIOT oo el

X114
X2 8
<315
v

Q.24

Ans

P sdsiimimig aas e, Bicesasd b lecs somesioen oneshicnss D sl 00, Sbcamene il caizneeds b mie,

wran = ey TS e ar eananse il camnenh konn s, cecade which of tie cooslusons Lo seally ol s
ican e slulemcnks

Slalerinls
Adl sl ace ligeree.
AlLN2Ers ank gooss.
Comelusloas:
Y hllll‘ b RE-S T En 1 ] _'_II"‘G\.I'.
d. Socse Lmards pos squlmek.

M e vedres s sl

#< 1. Conclusions I and II follow

#< 2. Conclusions I, II and III follow
« 3. Conclusions II and III follow
< 4. Conclusions I and III follow

Ans

Q.25 Thies dilfea peeiticnnl he dana b s dnws e 'i'l-'hi'.ll:-:.'1||l:| e B T vl e Geoc ddeoing®

ek
HFJ

*-~|
X< 10
X2 #
K3+
v &



SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF

SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF


m/

Section : Quantitative Aptitude

If secB = ? . then tan® — sin 8 + cos@ is equal to:

Ans X1. E

65
23
13
124

K —

65

v 121

65

Q.2  Tlezoulii el e i s cobar e el Ui Trasion o0« com: alfophe Loamans el em a8 iilcenkime in
et {2 2
Ans X 1. 540
< 2520
Vs 572
X 4. 560

m/
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Q.3 e cidereuse beirepen e cocipensd Sleres s sumple mreres: on Bad L5 per ancum sor 2 veass (= TLE Waars
e vl aE sy

Ans X 1. 1,280
< 21,300
75 3. 1,340
W 4 1,250

Q.4 Ao eilocbdusaae il et veaees spesd o050 kwk wal vl sl O bl sl e e snges sprece of
kel P hers neany nenades e e een sl acaras o e bea!

Ans x1. 7
V26
X3 8
K409

®® fa+b=8 and ab = 2 then (a® + b®) is equal to:

3
Ans  of 1. 256
< 2 384
<3128
< 4320

Q.6 Tl fabie sl s o ez of 2azkerds :dml:finil SR PR L ETER T o] T RO FET R

Sireanes | cllege
A | Bl C ol m] E

AT 24D | 4En 1 470 mn
Saiepe: | &30 | REN | &40 | 360 | 400
Codminc e | 440 pol || =5F | 5an 3N

10 e bl absin shiadoes sl ve s simezm o all eesdlopes s mpma s b seeersr bl soiles el ag e
O e s | reErece g o odlezs T, ro e eres Cegoeet

Ans X1_ 88°
v 2 85°
< 3. 820
X 4. 80°

m/
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Q7 The value of:

58+ (74+37%xh)—6x2+25

Ans  of 1. 11
<212
X309
<410

Q8 For what value of x is the seven digit mumber 46393x8 divisible by 117
Ans X 1.5

4
=] W ha

Q9 rfaibic=4gudab | betca=2, thena® + b’ 1 @ Fabe i equal to:
Ans X1. 48

v 2 40

<332

<4 36

Q.10 iniesless ol A0 adircamla $6% o wi ool e renainine v e The ansavenl B bess ks iz 38 s e ol s
s At Whalae e e nork ol e whely e

Ans X 1. 60.65
X 2. 60.38
X 3 60.12
W 2 59.84

A" The value of sin248° + sin?42° — sec?30° + tan260° s equal to:

Ans

m/
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5
X1z
3
7
p
3
<32
8
g
3
Q.12 s AL et A e H el AL m s DT S0 s LA e s s dhen RO eeeminl e
Ans X' 1. 12.5cm
&< 2 10cm
&3 15cm
¥4 75cm

Q.13 Tenchnnb afiwd CT el cinde o o o il ki e e AT = Tew, T = 2mued Al = S, e
LS BT E T

Ans o 1. 8cm
<2 5cm
&3 4cem
< 4 6cm

Q.14 pwg adicles ace sl fop TR ek i tere, Srera e s el 1% e o e otber ihece s ler of 170 Whae = o
ol Znor Locs TR [ neamsron s 2l claoes

Ans  of 1. 0.7% loss
X 2. 0.7% gain
< 3. 0.5% loss
< 4. 0.5% gain

m/
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Ans

Aireams Callege
. AR _c© I B]E
Agme SEF A& 320 | 4T 3T
Sciepce | 620 | 630 540 | 360 | 4
Commerce | 480F | 53 350 | 530 | 330

< 1. 460

m/

Thiztakle shows the pancher of snadeats sndving ovariss sneans o difres eollzas

Wi s e avernze ol e number of stidents io e s sioeae moall (ke codleges when logedir™

< 2. 450
< 3470
W 4 440

Q.16 &4t —nn e Miaian e Pamia = toma Lowa affasion o L Wk ap epatlin, thay can s o d a< in 1
dave, I zom ety dews WL G akoas coceplere 1502 02 war pek?

Ans X' 1. 35
< 233
V'3 31
<4 28
Q.17  his lahbe wsines s i ek e skl -clul:,lirL; (R T ETER TR T TR B | FES | PR R T
speams | College
5 | ol | i
Acls S0 A6 | 520 AT0 | 30
SCance Fce O 5 e T 111
Cammenas | 480 | 520 | 3500 520 | 330
Wt £tz roio ok The cunnen oF smadenes smcying soloize nsace@es A i T ro@ztbes to e nrsnber of Smools
shidy g onEnees b in oolages Lol L cpeiher!
Ans X' 1.23:15
V2 26:17
<3 21:17
<4 13:8
Q.18

m/
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Thiz e e ez oz of gackaila slabvng s sl o diMead ool

Sl
A

Ads 3

BLerie [T )]

SEO [ oael | R0 ATE | 370

| amroerze | el

m/

Premdzzr al iz i e samenee avaam ol el loee © ke pprenes makly wlen penamiage ol aocians shalvang inile

crlleps !
Ans X 1. 429
< 2 43%
W 3 450
< 4 44%

Q19 1f5in 56 = cos(50° — 30), then 8 is equal to:

Ans \/1_ 20°
X 2 250
< 3. 300
X4 150

Q.20 inAaHE Piea e o B e e 0 e st e G b A mid podir sPET Then aopaa BT an el

Ans X1 1:5
K21:3
<3 1:4
vil:6

Q.21 mzvervale with eac s AL A0 e disecbor sl 13 s e lenl cnch i ATI0TD s liapeesien, W2 8201w e, s

SRRy i Y
Ans “1. 42
<2 36
X 348
K4 24

m/
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Q.22 the prive sl T ceveeme by DG A i sanls o ineesss his enpeniion by L%l Bywsnd patel
et Ineonie s vnl plae slenlibhe e s eonsunging?

Ans  of 1. 7.4%
& 2. 7.8%
<3 7.2%
X 4 7.6%

Q.23  Anedich as cood Toc P50 00 atfer tun sczessnw dioorcis of 29%, and 354w WWhat 10 1he mrckes poice ol S1e amcet

Ans X 1. 3820
< 2 3830
V5 T840
< 4. 3800

Q24 Tfa:b=5:8andc:b=4:3,thena:b:cisequalto:
Ans  X'1.5:6:8

<215:24:28

V'3 15:24:32

K 45:8:6

OB rex+ L = V7, then X + = is equal to:
Va x

Ans X 1. 120
& 2 140
3 110
< 4 130

m/
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